

Pay Estimate Created Date: August 22, 2023

Final Estimate 39	Number	Contract ID Prime Contracto	210917-F02 r Magruder Paving, LL0			 Original Contract Amount Net Change Order Amount Current Contract Amount 	\$4,373,435.32 (\$676,567.54) \$3,696,867.78
Approval Date							By User
November 7, 2023			Generated and Appro	oved (and should be	considered Draf) at the Project Office Level by	lewisj1
November 8, 2023		R	eviewed and Approved	(and should be consi	dered Draft) at t	ne Resident Engineer Level by	holdtc
November 17, 2023			Revie	ewed and Approved a	at the Central Of	fice Controllers Office Level by	ramses1
Original Comp	Original Completion Date Current			Actual Completio	n Date	% of Current Contract Amou	Int Complete
November	1, 2022	Jur	ne 27, 2023	100.00%			
Contract	Information	nal Dates			Milestone	S	

Contract Informational Dates

Date escription	Original Completion Date	Current Completion Date	Date Description	Original Completion Date	Current Completion Date	Days Remaining on Milestone
Acceptance Date	October 5, 2023	October 5, 2023	Milestone - Available Time - JSP C. Work Zone Traffic Management JSP-02-06J			
Awarded Date	October 6, 2021	October 6, 2021				
Letting Date	September 17, 2021	September 17, 2021				
Notice to Proceed Date	December 6, 2021	December 6, 2021				
Open to Traffic Date						
Work Began Date	December 6, 2021	December 6, 2021				

Contract Total F	Pay For Estimate No. 39			
		This Estimate	Previous	To Date
210917-F02				
	Total Posted Items Pay	\$0.00	\$3,696,867.80	\$3,696,867.80
	Gross Item Adjustments	\$0.00	\$136,926.02	\$136,926.02
	Incentive	\$0.00	\$0.00	\$0.00
	Disincentive	\$0.00	(\$3,000.00)	(\$3,000.00)
	Liquidated Damage	\$0.00	\$0.00	\$0.00
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00
			<mark>\$3,830,793.82</mark>	\$3,830,793.82
Contract Total P	Payable This Estimate:	\$0.00		
<mark>ltems Paid This E</mark>	Estimate Period			
No Data Availa	ble			
Contract Adjustn	nents This Estimate			

No Contract Adjustments Exist on Contract Line Item Adjustments This Estimate

No Data Available



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					(Contract Project Informatior	1						
Project Number	Federal Proj. Number	Project Description	Route	County	Location of Work								
J6I3492	l 70-4(207)	Resurface	I-70	ST CHARLES	from the Warren County	Line to Wentzville Pkwy							
Totals by .	Job Numbe	ers											
J6I3492		d Item Pay Item Adjustm		ttem Pay	This Estimate \$0.00 \$0.00 \$0.00	Previous \$3,696,867.80 \$136,926.02 \$3,833,793.82	To Date \$3,696,867.80 \$136,926.02 \$3,833,793.82						
	Liquid	tive centive lated Damages Contract Adju			\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 (\$3,000.00) \$0.00 \$0.00	\$0.00 (\$3,000.00) \$0.00 \$0.00						



Exceptions (Discrepancies) This Estimate Period No Exceptions Exist on Contract



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate) Note: Posted Quantities and Values are based on Report Generat

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Vote: Posted Q	uantities	and Valu	ies are l	based on I	Report Generated date and can differ from the posted am	ount at the	time the Est	timate was (Generate	ed.		
Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
210917-F02	J613492	0001	0010	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS		\$239,389.13	\$239,389.13
		0001	0020	2072000	LINEAR GRADING CLASS 2	146.00	113.80	259.80	STA	259.80	\$267.87	\$69,592.63
		0001	0030	2153000	SHAPING SLOPES, CLASS III	20.00	10.00	30.00	100F	30.00	\$2,257.64	\$67,729.20
		0001	0040	3030600	FURNISHING ROCK BASE MATERIAL	120.00	69.00	189.00	SQYD	189.00	\$21.23	\$4,012.47
		0001	0050	3030610A	PLACING ROCK BASE	120.00	69.00	189.00	SQYD	189.00	\$28.70	\$5,424.30
		0001	0060	3040506	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	9,107.00	-9,107.00	0.00	SQYD	0.00	\$14.51	\$0.00
		0001	0070	3107003	GRAVEL (A) OR CRUSHED STONE (B) OR CHAT (C)	17.00	-17.00	0.00	SQYD	0.00	\$50.00	\$0.00
		0001	0080	4010150	TYPE A2 SHOULDER	100.00	-100.00	0.00	SQYD	0.00	\$36.75	\$0.00
		0001	0090	4029905	MISC.SHOULDER SURFACE SEAL	34,892.40	0.00	34,892.40	SQYD	34,892.40	\$2.05	\$71,529.42
		0001	0100	4133100	ULTRATHIN BONDED WEARING SURFACE, TYPE B	175,973.00	0.00	175,973.00	SQYD	175,973.00	\$5.04	\$886,903.92
		0001	0110	5029905	MISC.OPTIONAL PAVEMENT/SHOULDER	6,623.40	-3,260.90	3,362.50	SQYD	3,362.50	\$67.97	\$228,549.12
		0001	0120	6051018A	PIPE AGGREGATE PAVEMENT CROSS DRAIN	96.00	17.00	113.00	LF	113.00	\$29.78	\$3,365.14
		0001	0130	6054020	OUTLET PIPES AND SPLASH PADS	3.00	0.00	3.00	EA	3.00	\$1,800.00	\$5,400.00
		0001	0140	6059903	MISC.PIPE AGGREGATE PAVEMENT LONGITUDINAL DRAIN	160.00	17.00	177.00	LF	177.00	\$28.00	\$4,956.00
		0001	0150	6071013A	CHAIN-LINK FENCE (72 IN.)	365.00	-365.00	0.00	LF	0.00	\$42.31	\$0.00
		0001	0160	6092021	INTEGRAL CURB (OVER 6 IN. HEIGHT) TYPE A	20.00	-20.00	0.00	LF	0.00	\$21.00	\$0.00
		0001	0170	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	2.00	\$1,000.00	\$2,000.00
		0001	0180	6131010	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL	1,616.00	832.00	2,448.00	SQYD	2,448.00	\$242.00	\$592,416.00
		0001	0190	6131012	DEPTH PAVEMENT REPAIR SUBGRADE COMPACTION (6 IN. DEPTH) (PAVEMENT REPAIR)	162.00	0.00	162.00	SQYD	162.00	\$5.00	\$810.00
		0001	0200	6131012	TYPE 1 OR 5 AGGREGATE FOR BASE (4 IN. THICK)	150.00	-150.00	0.00	SQYD	0.00	\$5.00	\$0.00
					(PAVEMENT REPAIR)							
		0001	0210	6131014	FULL DEPTH PAVEMENT REPAIR SAW CUT (FOR PERIMETER AND INTERNAL SAW CUTS)	5,989.00	3,442.00	9,431.00	LF	9,431.00	\$5.00	\$47,155.00
		0001	0220	6131015	DOWEL BAR (DRILLING, FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR	3,208.00	-114.00	3,094.00	EA	3,094.00	\$5.00	\$15,470.00
		0001	0230	6131017	DOWEL BAR (FURNISHING AND INSTALLATION WITH BASKETS) FOR FULL DEPTH PAVEMENT REPAIR	310.00	303.00	613.00	EA	613.00	\$7.80	\$4,781.40
		0001	0240	6131018	TIE BAR (DRILLING, FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR (TYPE L JOINTS)	258.00	530.00	788.00	EA	788.00	\$7.00	\$5,516.00
		0001	0250	6133018	FURNISHING AND PLACING BITUMINOUS MATERIAL FOR CLASS B PARTIAL DEPTH PAVEMENT REPAIR	280.80	-164.60	116.20	TONS	116.20	\$149.10	\$17,325.42
		0001	0260	6133019	REMOVAL FOR CLASS B PARTIAL DEPTH PAVEMENT REPAIR	1,733.30	-994.80	738.50	SQYD	738.50	\$23.24	\$17,162.74
		0001	0270	6133020	FURNISHING AND PLACING BITUMINOUS MATERIAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR	588.90	-425.90	163.00	TONS	163.00	\$99.71	\$16,252.73
		0001	0280	6133021	REMOVAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR	3,634.60	-2,728.30	906.30	SQYD	906.30	\$16.21	\$14,691.12
		0001	0290	6139911	MISC.REMOVAL, FURN.& PLACING HOT POLYMER CONCRETE PATCHING FOR CLASS A PARTIAL DEPTH PVMT REPAIR	160,346.00	-115,606.00	44,740.00	LB	44,740.00	\$3.60	\$161,064.00
		0001	0300	6161005	CONSTRUCTION SIGNS	1,941.00	0.00	1,941.00	SQFT	1,941.00	\$4.50	\$8,734.50
		0001	0310	6161008	ADVANCED WARNING RAIL SYSTEM	60.00	0.00	60.00	EA	60.00	\$10.00	\$600.00
		0001	0320	6161025	CHANNELIZER (TRIM LINE)	316.00	0.00	316.00	EA	316.00	\$25.00	\$7,900.00
		0001	0330	6161033	DIRECTIONAL INDICATOR BARRICADE	84.00	0.00	84.00	EA	84.00	\$15.00	\$1,260.00
		0001	0340	6161040	FLASHING ARROW PANEL	6.00	0.00	6.00	EA	6.00	\$150.00	\$900.00
		0001	0350	6162002	TEMPORARY LONG-TERM RUMBLE STRIPS	8.00	-8.00	0.00	EA	0.00	\$1,000.00	\$0.00
		0001	0360	6169902	MISC.NTCIP COMPLIANT CHANGEABLE MESSAGE SIGN (CONT.FURNISHED/RETAINED)	4.00	0.00	4.00	EA	4.00	\$2,500.00	\$10,000.00
		0001	0370	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$291,400.00	\$291,400.00
		0001	0380	6181020	ADDITIONAL MOBILIZATION FOR SEEDING	1.00	-1.00	0.00	EA	0.00	\$600.00	\$0.00
		0001	0390	6191000	PAVEMENT EDGE TREATMENT	14,196.00	-6,509.00	7,687.00	LF	7,687.00	\$1.12	\$8,609.44
		0001	0400	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	56.00	0.00	56.00	LF	56.00	\$20.00	\$1,120.00
		0001	0410	6200021	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	4.00	0.00	4.00	EA	4.00	\$300.00	\$1,200.00
		0001	0420	6205902A		163,277.00	-94,142.00	69,135.00	LF	69,135.00	\$0.20	\$13,827.0
		0001	0430	6205903A	6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	53,840.00	0.00	53,840.00	LF	53,840.00	\$0.20	\$10,768.00
		0001	0440	6205906A	12 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	7,783.00	0.00	7,783.00	LF	7,783.00	\$1.00	\$7,783.00



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Im.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
10917-F02	J613492	0001	0450	6207001	PAVEMENT MARKING REMOVAL	1,868.00	0.00	1,868.00	LF	1,868.00	\$2.00	\$3,736.00
		0001	0460	6208070	REMOVAL OF SNOWPLOWABLE RAISED PAVEMENT MARKER	138.00	0.00	138.00	EA	138.00	\$5.00	\$690.00
		0001	0470	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	12,030.00	1,160.00	13,190.00	SQYD	13,190.00	\$3.00	\$39,570.00
		0001	0480	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	809.60	0.00	809.60	STA	809.60	\$11.60	\$9,391.36
		0001	0490	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	1.00	\$2,000.00	\$2,000.00
		0001	0500	8051000A	SEEDING - COOL SEASON GRASSES	0.10	-0.10	0.00	ACRE	0.00	\$53,000.00	\$0.00
		0001	0510	8061005	ROCK DITCH CHECK	412.00	-412.00	0.00	LF	0.00	\$12.00	\$0.00
		0001	0520	8061006	ALTERNATE DITCH CHECK	768.00	-768.00	0.00	LF	0.00	\$9.50	\$0.00
		0001	0530	8061016	SEDIMENT REMOVAL	240.00	-240.00	0.00	CUYD	0.00	\$6.79	\$0.00
		0001	0540	8061019	SILT FENCE	14,587.00	-14,587.00	0.00	LF	0.00	\$2.10	\$0.00
		0010	0550	6061060	MGS GUARDRAIL	1,938.00	155.00	2,093.00	LF	2,093.00	\$33.68	\$70,492.24
		0010	0560	6061063	MGS GUARDRAIL, 6 FT. POSTS, 3 FT 1.5 IN. SPACING	100.00	12.50	112.50	LF	112.50	\$56.94	\$6,405.75
		0010	0570	6061065	MGS GUARDRAIL, 6 FT. POSTS, 1 FT 6.75 IN. SPACING	100.00	50.00	150.00	LF	150.00	\$80.46	\$12,069.00
		0010	0580	6061067	MGS DOUBLE FACED GUARDRAIL	50.00	-50.00	0.00	LF	0.00	\$80.41	\$0.00
		0010	0590	6061069	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	1.00	0.00	1.00	EA	1.00	\$3,765.18	\$3,765.1
		0010	0600	6061080	MGS END ANCHOR	7.00	0.00	7.00	EA	7.00	\$1,276.47	\$8,935.2
		0010	0610	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	7.00	0.00	7.00	EA	7.00	\$3,042.82	\$21,299.74
		0010	0620	6064500	AGGREGATE BEDDING FOR 3 - STRAND GUARD CABLE	2,841.00	0.00	2,841.00	CUYD	2,841.00	\$63.06	\$179,153.4
		0010	0630	6069902	MISC.TYPE B CRASH CUSHION	2.00	-2.00	0.00	EA	0.00	\$7,786.00	\$0.0
		0010	0640	6099902	MISC.HTGC ANCHOR ASSEMBLY	4.00	-2.00	2.00	EA	2.00	\$4,525.97	\$9,051.9
		0010	0650	6099903	MISC.HIGH TENSION GUARD CABLE	25,570.00	257.00	25,827.00	LF	25,827.00	\$15.95	\$411,940.6
		0050	0660	9109903	MISC.MODOT ITS ASSETS RELOCATION	544.00	-544.00	0.00	LF	0.00	\$18.00	\$0.0
		0001	5001	6139910	MISC.FURNISHING AND PLACING BITUMINOUS MATERIAL FOR CLASS B PARTIAL DEPTH PAVEMENT REPAIR (TRANSVERSE JOINTS)	0.00	47.60	47.60	TONS	47.60	\$219.97	\$10,470.5
		0001	5002	6139905	MISC.REMOVAL FOR CLASS B PARTIAL DEPTH PAVEMENT REPAIR (TRANSVERSE JOINTS)	0.00	277.30	277.30	SQYD	277.30	\$30.53	\$8,465.9
		0010	5003	6061080	MGS END ANCHOR	0.00	2.00	2.00	EA	2.00	\$1,316.47	\$2,632.9
		0010	5004	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	0.00	2.00	2.00	EA	2.00	\$3,112.82	\$6,225.6
		0001	5005	1046002	VALUE ENGINEERING	0.00	1,584.37	1,584.37	EA	1,584.37	\$1.00	\$1,584.3
		0001	5007	1046001	VALUE ENGINEERING	0.00	16,771.38	16,771.38	LS	16,771.38	\$1.00	\$16,771.3
		0001	5008	1094000	FORCE ACCOUNT	0.00	1.00	1.00	EA	1.00	\$7,293.00	\$7,293.0
		0010	5009	4079912	MISC.Fog Seal Guard Cable Rock	0.00	1,700.00	1,700.00	GAL	1,700.00	\$9.31	\$15,827.0
		0001	5010	2079901	MISC.Grading and Surface Restoration	0.00	1.00	1.00	LS	1.00	\$3,498.61	\$3,498.6
		0001	5016	1046001	VALUE ENGINEERING	0.00	0.00	0.00	LS	0.00	\$1.00	\$0.0
	Project J	613492 - To	otal Value	Posted to D	Date as of Report Generated Date							\$3,696,867.7
0917-F02 Ove	rall - Tota	Value Pos	ted to Da	te as of Rep	ort Generated Date							\$3,696,867.7



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work. The information below this line are details for Construction Signs (if applicable). No Data Available



Nov 18, 2023

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks		
613492	0040	FURNISHING ROCK BASE	Overrun	Overrun	10	May 2, 2022	SYSTEM	(\$1,464.87)			
		MATERIAL			12	Jun 3, 2022	SYSTEM	\$1,464.87	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',21.23000 - 21.23000, 'is applied (if non-zero).		
				Overrun - T	otal			\$0.00			
			Overrun - Tota	al				\$0.00			
	0040 -	Total						\$0.00			
	0050	PLACING ROCK BASE	Overrun	Overrun	10	May 2, 2022	SYSTEM	(\$1,980.30)			
					12	Jun 3, 2022	SYSTEM	\$1,980.30	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',28.70000 - 28.70000, 'is applied (if non-zero).		
				Overrun - T	otal			\$0.00			
			Overrun - Tota					\$0.00			
	0050 -	Total						\$0.00			
	0100	ULTRATHIN BONDED	Material		12	Jun 3, 2022	SYSTEM	(\$691,741.01)			
		WEARING		- Total		LOLL		(\$691,741.01)			
		SURFACE, TYPE B	Material - Tota					(\$691,741.01)			
			MaterialCredit		13	Jun 17, 2022	SYSTEM	\$691,741.01			
				- Total				\$691,741.01			
			MaterialCredit	Credit - Total				\$691,741.01			
				UBAW	12	Jun 3,	jacqun1	\$53,369.31	UBAWS 22-3 AC Price Adjustment and Emulsion Membrane May 2022		
				Adjustment		Other Item Adjustment	UBAW	12	2022	Jacquiri	\$00,009.01
					13	Jun 17, 2022	jacqun1	\$20,671.81	UBAWS 22-3 AC Price Adjustment and Emulsion Membrane June 2022 First Period Estimate 0013 (38722.80 SY)		
				UBAW - Tot	al			\$74,041.12			
			Other Item Ad	justment - To	tal			\$74,041.12			
			Price FUEL		12	Jun 3, 2022	SYSTEM	\$41,540.15	Reference Item Price Adjustment Index Adjustment Type applied is FUEL		
					13	Jun 17, 2022	SYSTEM	\$14,053.28	Reference Item Price Adjustment Index Adjustment Type applied is FUEL		
				- Total		\$55,593.43					
			Price FUEL - T	ſotal				\$55,593.43			
	0100 -	Total						\$129,634.55			
	0110	MISC.	Material		3	Jan 18, 2022	SYSTEM	\$70,981.07	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user jacqun1 overridding Payment Estimate Exception 1 on the current Payment Estimate.		
					3	Jan 18, 2022	SYSTEM	(\$70,981.07)			
				- Total				\$0.00			
			Material - Tota	al				\$0.00			
	0110 -	Total						\$0.00			
	0120	AGGREGATE	Material		10	May 2, 2022	SYSTEM	(\$3,365.14)			
					11	May 17, 2022	SYSTEM	(\$3,365.14)			
					11			OVOTEM	(\$3,365.14)		
					12	Jun 3, 2022	SYSTEM	(\$3,305.14)			
					12 13		SYSTEM	(\$3,365.14)			
						2022 Jun 17,		,			
					13	2022 Jun 17, 2022 Jul 19,	SYSTEM	(\$3,365.14)			



	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks			
92	0120	PIPE AGGREGATE	Material		18	Sep 1, 2022	SYSTEM	(\$2,858.88)				
		PAVEMENT CROSS DRAIN			19	Sep 16, 2022	SYSTEM	(\$2,858.88)				
					20	Oct 3, 2022	SYSTEM	(\$2,858.88)				
				- Total				(\$32,132.62)				
			Material - Tota					(\$32,132.62)				
			MaterialCredit		11	May 17, 2022	SYSTEM	\$3,365.14				
					12	Jun 3, 2022	SYSTEM	\$3,365.14				
					13	Jun 17, 2022	SYSTEM	\$3,365.14				
					14	Jul 1, 2022	SYSTEM	\$3,365.14				
					16	Aug 2, 2022	SYSTEM	\$3,365.14				
					17	Aug 16, 2022	SYSTEM	\$3,365.14				
					18	Sep 1, 2022	SYSTEM	\$3,365.14				
					19	Sep 16, 2022	SYSTEM	\$2,858.88				
								20	Oct 3, 2022	SYSTEM	\$2,858.88	
					21	Nov 16, 2022	SYSTEM	\$2,858.88				
				- Total terialCredit - Total				\$32,132.62				
			MaterialCredit	- Total				\$32,132.62				
			MaterialCredit Overrun	Overrun	10	May 2, 2022	SYSTEM	\$506.26	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0005) overridding Payment Estimate Exception 4			
									on the current Payment Estimate. Material Insufficiency Quantity 113.000; Overrun Quantity Balance 17.00.			
					10	May 2, 2022	SYSTEM	(\$506.26)	on the current Payment Estimate. Material Insufficiency Quantity 113.000;			
					10 11		SYSTEM SYSTEM	(\$506.26)	on the current Payment Estimate. Material Insufficiency Quantity 113.000;			
						2022 May 17,		, ,	on the current Payment Estimate. Material Insufficiency Quantity 113.000; Overrun Quantity Balance 17.00.			
				Overrun - To	11	2022 May 17, 2022 May 17,	SYSTEM	(\$506.26) \$506.26 \$0.00	on the current Payment Estimate. Material Insufficiency Quantity 113.000; Overrun Quantity Balance 17.00. Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero). This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0001) overridding Payment Estimate Exception 2 on the current Payment Estimate. Material Insufficiency Quantity 113.000; Overrun Quantity Balance 17.00.			
			Overrun - Tota		11	2022 May 17, 2022 May 17,	SYSTEM	(\$506.26) \$506.26 \$0.00 \$0.00	on the current Payment Estimate. Material Insufficiency Quantity 113.000; Overrun Quantity Balance 17.00. Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero). This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0001) overridding Payment Estimate Exception 2 on the current Payment Estimate. Material Insufficiency Quantity 113.000; Overrun Quantity Balance 17.00.			
	0120 -	Total	Overrun - Tota		11	2022 May 17, 2022 May 17,	SYSTEM	(\$506.26) \$506.26 \$0.00	on the current Payment Estimate. Material Insufficiency Quantity 113.000; Overrun Quantity Balance 17.00. Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero). This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0001) overridding Payment Estimate Exception 2 on the current Payment Estimate. Material Insufficiency Quantity 113.000; Overrun Quantity Balance 17.00.			
	0120 - 0150	Total CHAIN-LINK FENCE (72 IN.)		MATL	11 11 ottal	2022 May 17, 2022 May 17,	SYSTEM	(\$506.26) \$506.26 \$0.00 \$0.00 \$0.00 \$6,056.00	on the current Payment Estimate. Material Insufficiency Quantity 113.000; Overrun Quantity Balance 17.00. Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero). This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0001) overridding Payment Estimate Exception 2 on the current Payment Estimate. Material Insufficiency Quantity 113.000; Overrun Quantity Balance 17.00.			
		CHAIN-LINK	Other Item Adjustment	MATL MATL - Tota	11 11 otal 27	2022 May 17, 2022 May 17, 2022 May 17, 2022	SYSTEM	(\$506.26) \$506.26 \$0.00 \$0.00 \$0.00 \$6,056.00 \$6,056.00	on the current Payment Estimate. Material Insufficiency Quantity 113.000; Overrun Quantity Balance 17.00. Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero). This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0001) overridding Payment Estimate Exception 2 on the current Payment Estimate. Material Insufficiency Quantity 113.000; Overrun Quantity Balance 17.00.			
	0150	CHAIN-LINK FENCE (72 IN.)	Other Item	MATL MATL - Tota	11 11 otal 27	2022 May 17, 2022 May 17, 2022 May 17, 2022	SYSTEM	(\$506.26) \$506.26 \$0.00 \$0.00 \$0.00 \$6,056.00 \$6,056.00	on the current Payment Estimate. Material Insufficiency Quantity 113.000; Overrun Quantity Balance 17.00. Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero). This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0001) overridding Payment Estimate Exception 2 on the current Payment Estimate. Material Insufficiency Quantity 113.000; Overrun Quantity Balance 17.00.			
	0150 0150 -	CHAIN-LINK FENCE (72 IN.) Total	Other Item Adjustment Other Item Adj	MATL MATL - Tota	11 11 otal 27 tal	2022 May 17, 2022 May 17, 2022 May 17, 2022	SYSTEM SYSTEM dansba1	(\$506.26) \$506.26 \$0.00 \$0.00 \$6,056.00 \$6,056.00 \$6,056.00	on the current Payment Estimate. Material Insufficiency Quantity 113.000; Overrun Quantity Balance 17.00. Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero). This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0001) overridding Payment Estimate Exception 2 on the current Payment Estimate. Material Insufficiency Quantity 113.000; Overrun Quantity Balance 17.00.			
	0150	CHAIN-LINK FENCE (72 IN.)	Other Item Adjustment	MATL MATL - Tota justment - To	11 11 otal 27	2022 May 17, 2022 May 17, 2022 May 17, 2022	SYSTEM	(\$506.26) \$506.26 \$0.00 \$0.00 \$6,056.00 \$6,056.00 \$6,056.00 \$6,056.00 (\$241,056.20)	on the current Payment Estimate. Material Insufficiency Quantity 113.000; Overrun Quantity Balance 17.00. Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero). This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0001) overridding Payment Estimate Exception 2 on the current Payment Estimate. Material Insufficiency Quantity 113.000; Overrun Quantity Balance 17.00.			
	0150 0150 -	CHAIN-LINK FENCE (72 IN.) Total FURN & PLACE CONC	Other Item Adjustment Other Item Adj	MATL - Total	11 11 otal 27 tal	2022 May 17, 2022 May 17, 2022 May 17, 2022 May 17, 2023	SYSTEM SYSTEM dansba1	(\$506.26) \$506.26 \$0.00 \$0.00 \$6,056.00 \$6,056.00 \$6,056.00 (\$241,056.20)	on the current Payment Estimate. Material Insufficiency Quantity 113.000; Overrun Quantity Balance 17.00. Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero). This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0001) overridding Payment Estimate Exception 2 on the current Payment Estimate. Material Insufficiency Quantity 113.000; Overrun Quantity Balance 17.00.			
	0150 0150 -	CHAIN-LINK FENCE (72 IN.) Total FURN & PLACE CONC MATL FOR	Other Item Adjustment Other Item Adj	MATL - Total	11 11 27 11 tal	2022 May 17, 2022 May 17, 2022 May 17, 2022 May 17, 2023	SYSTEM SYSTEM dansba1	(\$506.26) \$506.26 \$0.00 \$0.00 \$6,056.00 \$6,056.00 \$6,056.00 \$6,056.00 (\$241,056.20)	on the current Payment Estimate. Material Insufficiency Quantity 113.000; Overrun Quantity Balance 17.00. Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero). This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0001) overridding Payment Estimate Exception 2 on the current Payment Estimate. Material Insufficiency Quantity 113.000; Overrun Quantity Balance 17.00.			
	0150 0150 -	CHAIN-LINK FENCE (72 IN.) Total FURN & PLACE CONC MATL FOR	Other Item Adjustment Other Item Adj	MATL - Tota MATL - Tota	11 11 otal 27 tal	2022 May 17, 2022 May 17, 2022 May 17, 2022 May 17, 2023	SYSTEM SYSTEM dansba1	(\$506.26) \$506.26 \$0.00 \$0.00 \$6,056.00 \$6,056.00 \$6,056.00 (\$241,056.20)	on the current Payment Estimate. Material Insufficiency Quantity 113.000; Overrun Quantity Balance 17.00. Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero). This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0001) overridding Payment Estimate Exception 2 on the current Payment Estimate. Material Insufficiency Quantity 113.000; Overrun Quantity Balance 17.00.			
	0150 0150 -	CHAIN-LINK FENCE (72 IN.) Total FURN & PLACE CONC MATL FOR	Other Item Adjustment Other Item Adj Material Material - Tota	MATL - Total	11 11 27 11 tal	2022 May 17, 2022 May 17, 2022 May 17, 2022 May 17, 2022 May 17, 2022 Dec 16, 2021 Jan 3,	SYSTEM SYSTEM dansba1	(\$506.26) \$506.26 \$0.00 \$0.00 \$6,056.00 \$6,056.00 \$6,056.00 \$6,056.00 (\$241,056.20) (\$241,056.20)	on the current Payment Estimate. Material Insufficiency Quantity 113.000; Overrun Quantity Balance 17.00. Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero). This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0001) overridding Payment Estimate Exception 2 on the current Payment Estimate. Material Insufficiency Quantity 113.000; Overrun Quantity Balance 17.00.			
	0150 0150 -	CHAIN-LINK FENCE (72 IN.) Total FURN & PLACE CONC MATL FOR	Other Item Adjustment Other Item Adj Material Material - Tota	MATL - Tota MATL - Tota iustment - To - Total	11 11 27 11 tal	2022 May 17, 2022 May 17, 2022 May 17, 2022 May 17, 2022 May 17, 2022 Dec 16, 2021 Jan 3,	SYSTEM SYSTEM dansba1	(\$506.26) \$506.26 \$0.00 \$0.00 \$6,056.00 \$6,056.00 \$6,056.00 (\$241,056.20) (\$241,056.20) \$241,056.20	on the current Payment Estimate. Material Insufficiency Quantity 113.000; Overrun Quantity Balance 17.00. Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero). This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0001) overridding Payment Estimate Exception 2 on the current Payment Estimate. Material Insufficiency Quantity 113.000; Overrun Quantity Balance 17.00.			



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J6I3492	0180	FURN & PLACE CONC MATL FOR	Overrun	Overrun	8	Apr 5, 2022	SYSTEM	\$78,480.60	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',242.00000 - 242.00000, 'is applied (if non-zero).
		FULL DEPTH			10	May 2, 2022	SYSTEM	(\$46,464.00)	
					12	Jun 3, 2022	SYSTEM	\$46,464.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',242.00000 - 242.00000, 'is applied (if non-zero).
				Overrun - T	otal			\$0.00	
			Overrun - Tota	ıl				\$0.00	
	0180 -	Total						\$0.00	
	0210	FULL DEPTH PAVEMENT	Overrun	Overrun	5	Feb 16, 2022	SYSTEM	(\$710.00)	
		REPAIR SAW CUT (FOR			6	Mar 3, 2022	SYSTEM	(\$5,210.00)	
					7	Mar 17, 2022	SYSTEM	(\$4,370.00)	
					8	Apr 5, 2022	SYSTEM	\$10,290.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',5.00000 - 5.00000, 'is applied (if non-zero).
					10	May 2, 2022	SYSTEM	(\$1,050.00)	
					12	Jun 3, 2022	SYSTEM	\$1,050.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',5.00000 - 5.00000, 'is applied (if non-zero).
				Overrun - T	otal			\$0.00	
	0040 7-4-1		Overrun - Tota	ıl				\$0.00	
	0210 -	Total						\$0.00	
	0220	D220 DOWEL BAR (DRILLING, FURNISHING AND INST	Material		1	Dec 16, 2021	SYSTEM	(\$3,510.00)	
			Material Tate	- Total				(\$3,510.00)	
			Material - Tota	l				(\$3,510.00)	
			Material - Total MaterialCredit		2	Jan 3, 2022	SYSTEM	\$3,510.00	
				- Total				\$3,510.00	
			MaterialCredit	- Total				\$3,510.00	
	0220 -	Total						\$0.00	
	0230	DOWEL BAR (FURNISH AND INSTALL	Material		1	Dec 16, 2021	SYSTEM	(\$3,135.60)	
		WITH BASK		- Total				(\$3,135.60)	
			Material - Tota	I				(\$3,135.60)	
			MaterialCredit		2	Jan 3, 2022	SYSTEM	\$3,135.60	
				- Total				\$3,135.60	
			MaterialCredit					\$3,135.60 \$3,135.60	
			MaterialCredit Overrun		1	Dec 16, 2021	SYSTEM		This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0001) overridding Payment Estimate Exception 10 on the current Payment Estimate. Material Insufficiency Quantity 402.000; Overrun Quantity Balance 92.00.
				- Total	1		SYSTEM	\$3,135.60	Estimate Item Adjustment (0001) overridding Payment Estimate Exception 10 on the current Payment Estimate. Material Insufficiency Quantity 402.000;
				- Total		2021 Dec 16,		\$3,135.60 \$405.60	Estimate Item Adjustment (0001) overridding Payment Estimate Exception 10 on the current Payment Estimate. Material Insufficiency Quantity 402.000; Overrun Quantity Balance 92.00. This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0002) overridding Payment Estimate Exception 10 on the current Payment Estimate. Material Insufficiency Quantity 402.000;
				- Total	1	2021 Dec 16, 2021 Dec 16,	SYSTEM	\$3,135.60 \$405.60 \$280.80	Estimate Item Adjustment (0001) overridding Payment Estimate Exception 10 on the current Payment Estimate. Material Insufficiency Quantity 402.000; Overrun Quantity Balance 92.00. This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0002) overridding Payment Estimate Exception 10 on the current Payment Estimate. Material Insufficiency Quantity 402.000; Overrun Quantity Balance 92.00. This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0003) overridding Payment Estimate Exception 10 on the current Payment Estimate. Material Insufficiency Quantity 402.000;
				- Total	1	2021 Dec 16, 2021 Dec 16, 2021 Dec 16,	SYSTEM	\$3,135.60 \$405.60 \$280.80 \$31.20	Estimate Item Adjustment (0001) overridding Payment Estimate Exception 10 on the current Payment Estimate. Material Insufficiency Quantity 402.000; Overrun Quantity Balance 92.00. This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0002) overridding Payment Estimate Exception 10 on the current Payment Estimate. Material Insufficiency Quantity 402.000; Overrun Quantity Balance 92.00. This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0003) overridding Payment Estimate Exception 10 on the current Payment Estimate. Material Insufficiency Quantity 402.000;



Nov 18, 2023

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks								
J6I3492	0230	DOWEL BAR	Overrun	Overrun		2022											
		(FURNISH AND INSTALL WITH BASK			7	Mar 17, 2022	SYSTEM	(\$553.80)									
					8	Apr 5, 2022	SYSTEM	\$1,427.40	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',7.80000 - 7.80000, 'is applied (if non-zero).								
					10	May 2, 2022	SYSTEM	(\$312.00)									
					12	Jun 3, 2022	SYSTEM	\$312.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',7.80000 - 7.80000, 'is applied (if non-zero).								
				Overrun - T	otal			\$0.00									
			Overrun - Tota					\$0.00									
	0230 -	Total						\$0.00									
	0240	TIE BAR (DRILL, FURN	Material		1	Dec 16, 2021	SYSTEM	(\$4,277.00)									
		& INSTAL) (TYPE L			7	Mar 17, 2022	SYSTEM	(\$4,942.00)									
				- Total		2022		(\$9,219.00)									
			Material - Tota					(\$9,219.00)									
			MaterialCredit		2	Jan 3,	SYSTEM										
			MaterialCredit			2022		\$4,277.00									
					8	Apr 5, 2022	SYSTEM	\$4,942.00									
				- Total				\$9,219.00									
			MaterialCredit	- Total				\$9,219.00									
			Other Item Adjustment		OVRN	38	Aug 16, 2023	peterr1	\$2,471.00	Repayment from overrun on Estimate #2.							
					38	Aug 16, 2023	peterr1	\$63.00	Repayment from overrun on Estimate #5.								
				OVRN - Tota	al			\$2,534.00									
			Other Item Ad	ustment - Total				\$2,534.00									
			Overrun		Overrun	1	Dec 16, 2021	SYSTEM	\$518.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0005) overridding Payment Estimate Exception 11 on the current Payment Estimate. Material Insufficiency Quantity 611.000; Overrun Quantity Balance 353.00.							
								1	Dec 16, 2021	SYSTEM	\$567.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0006) overridding Payment Estimate Exception 11 on the current Payment Estimate. Material Insufficiency Quantity 611.000; Overrun Quantity Balance 353.00.					
					1	Dec 16, 2021	SYSTEM	\$1,386.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0007) overridding Payment Estimate Exception 11 on the current Payment Estimate. Material Insufficiency Quantity 611.000; Overrun Quantity Balance 353.00.								
					1	Dec 16, 2021	SYSTEM	(\$2,471.00)									
					2	Jan 3, 2022	SYSTEM	(\$2,471.00)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).								
					5 Feb 16, 2022 SYSTEM (\$63.00)												
													7	Mar 17, 2022	SYSTEM	\$259.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0009) overridding Payment Estimate Exception 5 on the current Payment Estimate. Material Insufficiency Quantity 706.000; Overrun Quantity Balance 86.00.
											7	Mar 17, 2022	SYSTEM	\$343.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0010) overridding Payment Estimate Exception 5 on the current Payment Estimate. Material Insufficiency Quantity 706.000; Overrun Quantity Balance 86.00.		
					7	Mar 17, 2022	SYSTEM	(\$602.00)									
					7		SYSTEM SYSTEM	(\$602.00) (\$189.00)									



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J6I3492	0240	TIE BAR	Overrun	Overrun					applied (if non-zero).
		(DRILL, FURN & INSTAL)		Overrun - T	otal			(\$2,534.00)	
		(TYPE Ĺ	Overrun - Tota	ıl				(\$2,534.00)	
	0240 -	- Total						\$0.00	
	0250	FURN & PLACE BIT.	Other Item Adjustment	ACAD	12	Jun 3, 2022	jacqun1	\$514.19	BP-2 21-6 AC Price Adjustment May 2022 Second Period Estimate 0012 (116.20 Tons)
		MATL FOR CL B PARTIAL		ACAD - Tota	al			\$514.19	
			Other Item Adj	ustment - To	tal			\$514.19	
	0250 -	Total						\$514.19	
	0270	FURN & PLACE BIT.	Other Item Adjustment	ACAD	12	Jun 3, 2022	jacqun1	\$721.28	BP-2 21-6 AC Price Adjustment May 2022 Second Period Estimate 0012 (163.00 Tons)
		MATL FOR CL C PARTIAL		ACAD - Tota	al			\$721.28	
			Other Item Adj	ustment - To	tal			\$721.28	
	0270 -	Total						\$721.28	
	0470	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	Overrun	Overrun	13	Jun 17, 2022	SYSTEM	(\$3,479.70)	
						15	Jul 19, 2022	SYSTEM	\$3,479.70
				Overrun - T	otal			\$0.00	
			Overrun - Tota	ıl				\$0.00	
	0470 -	Total						\$0.00	
	0620	AGGR. BEDDING FOR 3 - STRAND GUARD	OR		22	Dec 2, 2022	SYSTEM	(\$61,597.01)	
				- Total				(\$61,597.01)	
		CABLE	Material - Tota	I				(\$61,597.01)	
			MaterialCredit		23	Dec 16, 2022	SYSTEM	\$61,597.01	
				- Total				\$61,597.01	
			MaterialCredit	MaterialCredit - Total					
	0620 -	- Total						\$0.00	
	0640	MISC. PAVED DRAINAGE	Material		30	Apr 17, 2023	SYSTEM	(\$4,525.97)	
					35	Jul 3, 2023	SYSTEM	(\$9,051.94)	
				- Total				(\$13,577.91)	
			Material - Tota	I				(\$13,577.91)	
			MaterialCredit		31	May 2, 2023	SYSTEM	\$4,525.97	
					36	Jul 17, 2023	SYSTEM	\$9,051.94	
				- Total				\$13,577.91	
			MaterialCredit	- Total				\$13,577.91	
	0640 -	- Total						\$0.00	
J6I3492 ·	- Total							\$136,926.02	
Overall -	Total							\$136,926.02	



Contract Adjustments for Contract - 210917-F02

Estimate Number	Project	Adjustment Type	Other Adjustment Type	Adjustment Amount	Adjustment Percentage by Project	Created Date	Created By	Comments
5	J6I3492	Disincentive		(\$3,000.00)	100	Feb 16, 2022	jacqun1	Liquidated Damages Assessed - contractor failed to fully open 2/9/22-2/10/22 lane closure to traffic by the time specified in the contract, which resulted in traffic congestion and motorist delays. Closure was fully open to EB traffic at 5:55 am.
5 - Total					(\$3,000.00)			
Overall -	Total				(\$3,000.00)			